"+ Test Practice 1.
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Rates, Averages, and Proportions Estimated time: 4O minutes

Directions: Read each question. Choose the best answer or write the answer to the
question in the space you are given.

1 The coach wants to find the mean 5 How far can you bicycle in 3 hours if you
number of yards run. He has found the achieve an average speed of 15 mi/hr?
sum of the yards. What does he have to %
do next to find the mean? ® 5mi © 30 mi

® 18 mi ©® 45 mi
Yards Run _
12 5 7 6 4 6 Each science project is given a score from
29 15 11 12 8 0 to 100 by each judge. The teacher’s
score counts twice as much as each of the
® Find the middle number. three student judge’s scores. Here are
Divide by 2. Marge’s scores on her science project.

© Subtract 21 from 12.

® Divide by 12. Student judges: 80,75, 78

Teacher judge: 82

What is Marge’s final score?
2 Solve for n. 4 .

9 _n ® 63 © 79.4
B 78.75 ® 99.25
® 6 © 19
13.5 @ 42.7 7 Suppose it takes 480 person-hours to

complete a job. How many hours will

6 workers need to work to do the job?
3 The density of a diamond is 3.52

grams per cubic centimeter. Sally has a ® 8 hours © 80 hours
diamond that has a volume of 20 mm?. ® 40 hours ©® 48 hours
Which shows the weight of the diamond?

® 704¢g © 0.704 g 8 Philip can run a mile in 6 minutes. What
104 ¢ ® 0.0704 g is his speed in miles per hour?
® 6 mvhr © 12 mvhr
4 The ratio of fifth graders to sixth graders 10 mi/hr ® 60 mvhr

in a science club is 4 to 7. There are
20 fifth graders. How many sixth graders
are there?

@ 11 © 35

28 @ 70 IH

NO WORK, NO CREDIT




9 Find the quotient.
8
ST (——)
6 1
® 12 © 13

— ® -13

Dividing by

Fractions

reciprocal of the divisor.

16

 The reciprocal of = 16 18§

\ e The reciprocal of 5 is %

) * The reciprocal of 1% is 4

10 Find the sum.
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To divide by a fraction, multiply by the
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Remember

When adding or subtracting fractions, you
must ﬁrst find a common denominator.
) Then add or subtract the numerators.
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( Step-By-Step B

In example 9 you are asked to divide
" rational'numbers. Rational numbers are.
numbers that.can be written as the: ratio. of.
twa mtegers
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“Estimating with Rational Nu_mbe@

11 Choose the best estimate for this

quotient.
3.507 + 0.028 ~
® 1.2 © 120
12 © 1,200
)
Remember

The symbol = means
“Is approximately equal to.”

12 Choose the best estimate for this sum.
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® less than 6
between 6 and 7
© between 7 and 8
® greater than 8

Remember

A fraction is greater than % if the
numerator is greater than one half
the denominator. These fractions are
greater than -12-
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...\ Algebra: Expressions
%) and Equations

Propertles of Real Numbers Solving Equationg i -
Computmg with Expressions - Applying Equatmns

Examples 1-13: Read each question. Choose the b

est answer or write the answer to the
question in the space you are given.

Propertles ofRea] Numbers: - ) G

iep By S fep
1  Which number sentence ilustrates the '
Cornmutative Property?

number properties. shown at the’ Bottor
of thJs page A

® 7T+6=8+5 e

® (4+8)+10=(5+17+ 10

© 15+ (10 + 25) = 15 + (25 + 10)

® 15+ (10 + 25) = (15 + 10) + 25

fhumbers without. changmg the Way ;hey
_are grouped‘? ' ;

2 Fill the blank with a number that
will show the Associative Property of
Multiplication.

: 'Rewew the Assoczatwe Property in-the =
:‘-'.: chart: be]ow It'states that - yom can g'.roup e
j': -'lf‘actors in d]ﬂ'erent ways vnthout changmg

'lj_':the product MR /

i
- Commutative Property Associative Property |- Distributive Property . 1
The order in which you add | You can group addends or

or multiply does not change |factors in different ways
the answer

18 * (42 » 36) = (18 » 42) »

The product of a surn equals the t
sum of two products

12 + 37 = 37 + 12 (14 + )+ 6 =14 + (7 + 6) 312 +8) =(3x 12) +(3 x 8)

21+6=6+21 (5X20x8=5x(2x8) | (F+14+d+10) =114 + 10)

NO WORK, NO CREDIT
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Propefti es of Real Numbers )

3 Use properties of operations and mental
math to solve this problem.

25 + (36 + 75) X 1 =

Answer:

4 What is the reciprocal of 0.75?

5 1
® 15 © 13
1 3
11 ® 13

Opposites and ]

Reciprocals

\ When you add +5 to -5, you get 0.
The numbers +5 and —5 are opposites.
Opposites are the same distance from
0 on a number line.

When you multiply % times %, you get
which equals 1. The numbers and

(][ cnl

are reciprocals.

Property - - | Bl Déﬁhi'tibli oo - i} - Example
& Identity Property of The sum of any number and 0 is the _

5 .. . . x+0=x
] Addition original number.

Identity Property of The product of any number and 1 is the o 1=
Multiplication original number. I Y
% Inverse Property of The sum of any number and its opposite _
i L . x % (—x)=10
g Addition is 0.

% Inverse Property of The product of any number and 1its yel=1
2; Multiplication reciprocal is 1. .

&

NO WORK, NO CREDIT @J "
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( o Cbtﬁputiﬂg' with Expressions )
5 Find the sum.

(25 58340 F B = s

© —-3x + 11
® 10x — 2

® —7x + 11
® 3x + 5

6 Subtract.

(50—11)'(12(14-5—5):_-—

®7a-b—5 © T7a - b+5
® —Ta—b—9 ® —7a+ b - 17

q.:é:.‘
Algebraic Terms
expression: variables, numbers, and
symbols that express a numerical
relationship

variable: a letter that represents a
number or that can represent various

numbers

constant: a letter or number that
stands for a fixed number

term: in the expression 2x + y, 2x and
y are the terms of the expression

degree: the highest exponent of the
variable in a term. The degree of 5x* is
4; the degree of the constant term 5 is 0.

coefficient: in the term 2x, the
number 2 is a coefficient of the

variable x
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_Step-By-Step
_' For example 5, add expressions by adding
- like terms. Like terms have the same

*-variables of the same degree. You can add
i hori_zonta].ly or vertica]]y_

ﬂ

1 To add honzonta]]y, first add the x- terms

(2x+8)+ ~5x + 3) =

x4 (B =

,d—:zthé'_t;'dnstant terms.

+ 8.')-:-+ (—5x f.?-))-:' 731."'

/'_
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(-*" Computing with Expressions

7 Find the product.

-9 (—4a — 1)

® 8a + 2 © 8a — 2

8q2 + 2 ©® 8a? - 2a

}_Solrviﬁg Equ'a"’cionsﬁi T

9x — 5) = x(1 + 6)

® x =2 © x=
® x = —2 ® x =

| wal=
ral=

]

To-keep an equation balanced, always
perform the same operation on both
sides of the equation. Use opposite
operations.

Remember

« To undo addition, subtract.

e To undo subtraction, add.
e To undo multiplication, divide.

« To undo division, multiply.

NO WORK, NO CREDIT



3 Rachel and her family stayed in a hotel
last night and she made several phone
calls from the room. The hotel charges
$0.75 for each call plus $0.20 per
minute. Write an equation showing the

cost ¢ for m minutes.

Equation:

Is the equation linear or directly
proportional?

Answer:

4 Complete the table of ordered pairs for

the equationy = 3 — lix. Then use the

table to draw a graph.
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Graphing Linear Situations )

Sunset Drive-In Movies is celebrating
its anniversary and giving movie-goers a
price discount. Instead of charging $6.50
per person, they are charging $6 per car
plus $2 for each person in the car. Write
an equation to find the adimission cost
for a car with from 1 to 6 people. Then
plot the equation on the graph below.

b
L=

$18

$16

§14 , !
$12 ‘

Cost

$10 . : ,!
$8  —
$6 = |

N EEERE

i
Y "4 2 3 a2 5 B

Number of People in Car

—

Tip...

It does not make sense to draw a line
through the points in example 5. The
number of people cannot be a fraction.

x

NO WORK, NO CREDIT




C . *Similar pox.y'g'ansé e )

Use this figure for examples 10 and 11. The two
triangles shown are similar.

12 cm

18 cm

Which side completes the proportion?
AB _ 2
XY

AB © AC
© XZ

® &
vy
O

What is the measure of side AB?

® 6 cm ©® 16 cm
® 8 cm ® 20 cm

Gross Multiplication

Use cross multiplication to eliminate
fractions from a proportion. These two
statements are equivalent.

a*d=bec

ale

a _
5 =

]

(Step By S’rep

o

24 . 12 |
r 288{_"_ |
288+ 18

Il :

xi =
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